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Question Number : 1 Question Id : 583224903 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is the main circuit board connecting different components of a computer together?

Options:
; ® CPU

- % Switch board
= « Motherboard
q B NIC

Question Number : 1 Question Id : 583224903 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
=l & @ #Fia @ ge7 wfee 915 & St Frg F Rfees gt & o ary Aisar 82

Options:

; » CPU
, » T8a< &2 (Switch board)

3 HeTaE (Motherboard)
. % NIC

Question Number : 2 Question Id : 583224904 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is slower than the CPU but faster than the main memory?

Options:

, « Cache memory

> % Hard Disk
2 ® DVD
4 % ROM

Question Number : 2 Question Id : 583224904 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
afaf@a & & 9 &1 feeq CPU & gaaT # o &, fheg A&7 #80 ¥ 3R o 872
Options:

| » I HAW (Cache memory)

, » &% BFF (Hard Disk)
- = DVD
4 » ROM

Question Number : 3 Question Id : 583224905 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Magnetic Tape is a(n) MEmory.

Options:
1 % Volatile

> % Random access
5 % Optical
4 Sequential access

Question Number : 3 Question Id : 583224905 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TIHT T T/ AN &1

Options:

| e

> ® =7 vum

= % HeeHhoT

4 v TFafeere ey

Question Number : 4 Question Id : 583224906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is a type of computer generally known for large size. storage and processing power and used for
large-scale computing?

Options:
, % Minicomputer

-  Mainframe computer
= ® Microcomputer

4 % PDA

Question Number : 4 Question Id : 583224906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
fFfi@d & ¥ Fi7 O FFged AHSN W a8 JFR, HSR0T R @07 afed & & J=r 7w &
R 72 Yo W FgReT & A s9EeT R ST 87

Options:

| x T FEIET

A ™

o w TS FFEIX
4 ® PDA



Question Number : 5 Question Id : 583224907 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is considered as India's first supercomputer built by C-DAC?

Options:
1 & PARAM Yuva

> % PARAM Padma
= « PARAM 8000
4 % PARAM Ishan

Question Number : 5 Question Id : 583224907 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

frmafaf@a & @, C-DAC @ fAffT, sia & wge gerg & &9 # f3FF & 71 S 22

Options:

9{H ga1

i
> B 9IH 97
5 « T{H 8000
, & TH AT

Question Number : 6 Question Id : 583224908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
With respect to computer system. UPS stands for:

Options:
; w Uninterruptable Power System

> % Unique Power Supply
5  Unintermptable Power Supply

4 % Unique Power System

Question Number : 6 Question Id : 583224908 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
el fBEes & §9g & UPS &1 &1 Adad &7

Options:

| » HAEgeEd g fAreH

i — é_
o R dledeh Hl|d H-ell

. » HASTEEES T HooR

l Y
dlddeh Hla IHEcA

4 %



Question Number : 7 Question Id : 583224909 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) CRT uses electron gun for visual representation of data.
II) VDU is also called an input device.
III) A computer may have more than one input device.

Options:
1 = I-False II - True, III - True

5 « 1-True, II - False, III - True
5 % 1-True, II- False, III - False
4 % 1-True, II-True, III- False

Question Number : 7 Question Id : 583224909 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Afese FifFT Fum T8 & 7 79T
) CRT #, 3a1 % Rgyavafaite & [@w soege 1| & warer & s g

) VDU #T, 399¢ fZamsH & el AT 2
ll) FFTe &, TF ¥ AOF A Ta=T & TF &

Options:

Lo |- a1 - =6 - '
o o |- =8, - e, - F @Y
2w | - &, - 3T, Il - AT

4w |- @@L - EE - FTerad

Question Number : 8 Question Id : 583224910 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following:

Set-1 Set-2
I) MIPS A) Sequential access memory
II) SRAM B) Video Disk
IIT) Magnetic Tape C) Processor speed
IV) DVD D) Volatile memory
Options:

1o I-C.I-D,IM-AIV-B
> % 1-C.I-D.II-B,IV-A
z % 1-D,II-C.II-B.IV-A



, % I-D.II-AII-C.IV-B

Question Number : 8 Question Id : 583224910 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

frafafaa & Ao F:1I
He-1 Fe-2
) TH.MEITE. (MIPS) A) FgEAT AfEewE AR
Il) THEINT.T.TA. (SRAM) B) ffEar fw=
) == 2 C) 9rase o a
V) DVD D) giEdaeier aAd
Options:
w1 -C, Il-D,l-AIV-B
% l-C Il-D, Il-B,IV-A
sxl-D, II-C II-B,IV-A
s l-D II-All-CIV-B

Question Number : 9 Question Id : 583224911 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The FORTRAN is a programming language.

Options:
, w first-generation

5 % second-generation
> third-generation

4% fourth-generation

Question Number : 9 Question Id : 583224911 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
wred (FORTRAN) TR &7 SYenf&er omr 2

Options:

|« T I
o W q‘qﬁ%
S.O?Eﬁ-‘qﬁ:ﬁ-ﬁ-
4 % =ty <y

Question Number : 10 Question Id : 583224912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Word processing software is the example of:
Options:

, % Utility software

> #% Firmware

3 o Application software

4 % System software

Question Number : 10 Question Id : 583224912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
g2 9rafde "@reaaT FT 32T &
Options:

1 # & Eu
g_éﬁm

- v USRI AT
4 ® ﬁmm

Question Number : 11 Question Id : 583224913 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Electronic spreadsheets are used to organize data into for analysis purposes.

Options:
1 +« rows and columns

> % graphics

slides

o

e L
®

vectors

Question Number : 11 Question Id : 583224913 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ty Thzfiey F1 3aaT ey o= & B, H 22T F O9eTd e & ow B FJer #

Options:

| v U AR Fewd
5> % TR
3 ® Tollesd
4%37&7‘%

Question Number : 12 Question Id : 583224914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Adobe’s Acrobat Reader is a:



Options:
1 ® 5}’3&‘111 software

> % Firmware

- % Open-source software

4 « Freeware

Question Number : 12 Question Id : 583224914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

ST TEee T AEa 7 ¥ Far 22

Options:

, » BTes geam
> % BHIAT

- % HITS-TE AR
4 v B

Question Number : 13 Question Id : 583224915 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If computers C1 and C2 have RAM chips of capacity 4096 MB and 4 GB, respectively then which of the following
statements is true?

Options:

, w Storage capacity of C1 and C2 cannot be compared.

» w Storage capacity of C1 is less than the storage capacity of C2.

- u Storage capacity of C2 is less than the storage capacity of C1.

4 « Storage capacity of both C1 and C2 is same.

Question Number : 13 Question Id : 583224915 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Ifg FFageT C1 3 C2 #1337 f&rw Fver 4096 MB 3R 4 GB & &, & farafafgs # ¢ #iq @1 Fa= ve7 87

Options:

| C1 3R C2 & w=er=r HIfHdr Fr Forawr e 1 ST Fahel|

, » C1 & FeR=T FufAd, C2 i TRa H9fadr & &7 gl
. » C2 & FeR= FufAE, C1 1 T=Ra 98 § &7 ¢l
. » C1 3R C2, gt & =R Ffadr g7+ gl

Question Number : 14 Question Id : 583224916 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is equivalent to 256 Megabyte?



Options:

4 2% bits

Question Number : 14 Question Id : 583224916 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
frafaf@a & @ Fiaar, 256 AMEET F FAGT 272
Options:

[ 220 gy
i 228%@
& 230 fzm
4.#’231 feew

Question Number : 15 Question Id : 583224917 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The keyboard shortcut to minimize a window is:

Options:

| v Windows key +~ Down arrow key

> % windows key + Up arrow key
- » windows key + Left arrow key

4 ® Wwindows key + Right arrow key

Question Number : 15 Question Id : 583224917 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
fer = eAEs s F Bw Frag omése (keyboard shorteut) &

Options:

| v &SI & + TEA T Fr
o % EEIF T + 3T U Hr

5 % TESIST @l + SO T T
, % TSI @+ [ST T H

Question Number : 16 Question Id : 583224918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



With respect to computer booting. MBR stands for:
Options:
| % Master Boot Recovery

» % Memory Boot Record

z % Memory Boot Recovery

4 « Master Boot Record

Question Number : 16 Question Id : 583224918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

FFGET T % T H, MBR FT &1 Aded &7
Options:

| x AEX T Rl

L x FAY I RFS
. FAR qT Repalr

, v T T f=E

Question Number : 17 Question Id : 583224919 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Copying data from audio CDs to the computer is called:

Options:
= Uploading

- w DBumning

5  Ripping

4 » Downloading

Question Number : 17 Question Id : 583224919 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Hf3AT CD & FFge T ST FTHT &lal S FAT Fgl AT 87

Options:

. % FT@Ee (Uploading)

, % SieAeT (Burning)

. » R (Ripping)

, » S3aeEa (Downloading)




Question Number : 18 Question Id : 583224920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following options puts the computer into a low-power mode after saving all running programs and open
windows on the hard drive?

Options:

1 « Hibernate

> u Sleep
= % Restart

4 » Logoff

Question Number : 18 Question Id : 583224920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
@ Teear @ & FiF @1, g0 ae Tl FUFAT H 89 54 & a6, FFoYe H A-Ia AT A
@A ¥ 3 e #r are e & ey 2

Options:

1| " QeSO

, % FoIT (Sleep)
3 % I

4 % T 3TF

Question Number : 19 Question Id : 583224921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) “Sleep” option puts the computer into a low-power mode that retains all running programs and open windows in
computer mermory.
IT) “Switch user” option switches to another user account on the computer after closing your open programs and
Windows processes.
Options:
1+ 1-True, II - False

i M L False. II - True
2 ® I-True. II - True

4 u 1-False II - False

Question Number : 19 Question Id : 583224921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

FAfese FifeT Fua=7 g & T 79T

. ‘T (Sleep)” BFeT & @R FFIE F FH TS A FH W A 8, Alleh Tl I 7§ FIEUHAT
F FAC T@AT § AT RIS FF FEger AT F gar @ g

. “fFa=r =T (Switch user}"mﬁm@?mmmmﬁﬁmwm
# fea=r forar =1 m@Far 2




Options:

Lo |- T - T
o w | -7, Il - T
oow |- T -

, x| - 7o, Il - e

Question Number : 20 Question Id : 583224922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following:

Set-1 Set-2
Iy POST A) Cold Boot
II) Hard Boot B) Power on self-test
IIT) Soft Boot C) Warm Boot

Options:
, » I-BII-C,III-A

o w I-B.II-AII-C
5 % [-AII-B.III-C
. % [-C.II-B.II-A

Question Number : 20 Question Id : 583224922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T=ffaT = Fea F1

Te-1 az-2
) dHFe (POST) A) #Fes I
) &s g B) UMY 3T Tew-<IT
) ®\FE 2 C) THATE
Options:
w1 -B l-C Ill-A
swl-B Il-All-C
sxl-A Nl-B ll-C
Lwl-C Il-B 1l-A

Question Number : 21 Question Id : 583224923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following statements about virus is false?
Options:

1 % Virus is a malicious software.



o o Virus is a benign software.

- % Vvirus infects other files and programs.

4 % Virus can be detected and cleaned by the antivirus software.

Question Number : 21 Question Id : 583224923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

IRE & favw A, Aafoiea § ¥ S @ F349 799 87

Options:

|« TRE vE AfRTE T g
e IITH TF HET (benign) FHEEIT T
. » TTTH HeT TSl AT 9EMAT FF FF AT FT 2

. USETIE WIPCSIT ZaNT, JI9H FT 94T 9 AR @E SR S g 2

4

Question Number : 22 Question Id : 583224924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is generally used to prevent unauthorized Internet users from accessing private networks
connected to the Internet?

Options:
1 « Firewall

- w Utility software
5 % Antivirus

4 % Cookies

Question Number : 22 Question Id : 583224924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
et @ o Tl Head O% T @, dg et sTEEmAHT # e & e, e § @
e gt &Far Sar 272

Options:

| BT
. TToRT Wi

Question Number : 23 Question Id : 583224925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a common security measures for computer systems?

Options:



, « Regular upgradation of main memory.

-~ % Restricted use of removable storage devices. especially pen drives.

- % Regular update of antivirus software.

4 % Regular scan of computer system with antivirus software.

Question Number : 23 Question Id : 583224925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
fmafaf@a 7 & Flaar, Frger frea & v e @\ =T e 399 78 82

Options:

A=Y AA F1 FafEa e s

1.¢ 3
, « ECI AR TR BERw, W w7 @ 97 gea & gfasfaa 399t S
- % USHEIRH TWEAIR F FIHT HISE F:T|

, » TEHETRE WHEER F TN FF4 Tred #1 T & S

Question Number : 24 Question Id : 583224926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Turning Plaintext to Ciphertext is called:
Options:

1 % Transformation

>  Encryption

5 » Compression

4 » Decryption

Question Number : 24 Question Id : 583224926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
eldcaEe T AFicaee (Ciphertext) & agonag &1 Fad 2l

Options:
| % 9REAS (Transformation)
, » U= (Encryption)

- » 95 (Compression)
, » = (Decryption)

Question Number : 25 Question Id : 583224927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



With respect to computer security. CAPTCHA stands for:

Options:
L % CAPTuring CHAracters

> % CAPTuring CHaracters Alternatively

-  Completely Automated Public Turing test to tell Computers and Humans Apart

4 » Completely Authorized Public Turing test to tell Computers and Humans Apart

Question Number : 25 Question Id : 583224927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
FFge FT GET & FaY H, CAPTCHA 1 F7 Ades 8?2

Options:

. = CAPTuring CHAracters

- u CAPTuring CHaracters Alternatively

R

Completely Automated Public Turing test to tell Computers and Humans Apart
4 %

Completely Authorized Public Turing test to tell Computers and Humans Apart

Question Number : 26 Question Id : 583224928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) A computer worm is a self-replicating computer program.

II) Firewalls can be implemented in either hardware or software. or a
combination of both.

Options:

1 « I-Trmue, II-True

> % 1-True, II - False
5 » 1-False II - False
4 % 1-False II - True

Question Number : 26 Question Id : 583224928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

e FIfST Fu=7 F@Er & 1 T
. FFIX aTH Tow-ICarerfeeT HFI FAFH &l
||, STORETSr Y AT Ar FEIIR H AT WHeadX F IM I Sl F FIET F 9] BRar =1 Fehar

Options:

Lo |- -l




5w |- ®EL - e
5w |- e, Il - e

, % |-, 1l - \Er

Question Number : 27 Question Id : 583224929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following DOS conunands is used to move files from one location to another location?

Options:
; % COPY

> % XCOPY
=z B cCP
4 v MOVE

Question Number : 27 Question Id : 583224929 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TF SE W GE SE WiEal @ aeve e & fow, rafaf@a Dos FwAwst & & G av s T S 82

Options:

1 = COPY
> % XCOPY
2 % CP

4 v MOVE

Question Number : 28 Question Id : 583224930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A is used to store related data. whereas a 15 used to store files and subfolders.

Options:
| « file: folder

5 % folder: file
5 % disk: file

4 % buffer: file

Question Number : 28 Question Id : 583224930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T 3T F TR 9 F B v FT 39T T ST &, FEfe FT I FEar
Y FEweET F TR = & o G 3 B
Options:

| v TIE; Best



Question Number : 29 Question Id : 583224931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statements is false?

Options:

, » FAT isa file system.

> % NTFS stands for New Technology File System.

%z % FAT-32 is an extension of FAT-16.

4 « FAT-16 has 8.3 character limitation.

Question Number : 29 Question Id : 583224931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TafaT Faal § ¥ SiF O 99 7199 &7

Options:

| » e (FAT) v= wiser fawes gl
, x FACLTR.TH. (NTFS) & q0T & = TFArei= Hrsel Hwd 2

. x $He-32 (FAT-32), %e-16 (FAT-16) & TaFHH 2|
, v He-16 (FAT-16) # 8.3 el # €A &l

Question Number : 30 Question Id : 583224932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following statements is true?

Options:
1 # A file can contain another file.

> « A folder can contain another subfolders.
= # A folder cannot contain more than 100 subfolders.
4 % Afolder containing subfolders cannot be deleted.

Question Number : 30 Question Id : 583224932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AR ==t & ¥ FiF 1 FUF T8

Options:

., UF B # TEY BEe oI & TR 8

1.



o T BIesd ﬁ{ﬂi’ 3q%esT 21 T gl
. % T Blest # 100 & 3fAF 390t 7@ & Fonct|
, % STPICE JT BlesT @ [3elle Agl fohdl ST HehelT|

Question Number : 31 Question Id : 583224933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following:

LIST-1 LIST-2
I) Folder A)  Delete a file or folder permanently
II) NTFS B) Directory
IIT) Shift + Delete C)  File system
Options:

; % I-CII-A, TIT-B
- u 1-CII-B,II-A
z % I-B.II-AIII-C
4w 1-B,I-CII-A

Question Number : 31 Question Id : 583224933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

=afEs F e F:1
-1 -2
) wesT A) T WIS ITT BlesT & THASHT Balie HT & gl
) 7.8 TH.THE. (NTFS) B) =
1) frre + feeiie C) wEw A
Options:
L w l-C Il-A Il -B
sx l-C II-B, Il -A
~w l-B, Il-Alll-C
sl -B II-C llIl-A

Question Number : 32 Question Id : 583224934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
State whether True or False.

I) Windows Explorer is a file manager.
II) New folders cannot be created in Windows Explorer.

Options:



1 % I-Tre., II - True
5  1-True, II - False
- % I- False. II - True

4 % 1-False II - False

Question Number : 32 Question Id : 583224934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Tfese Hifew Fua @@ § I 79T
. &= ToEsaT v wEd 3991 §
l. 3=T TFgTaT # AT BiesT JA8l 410 3T d|

Options:

L |- TN - w
s |- Tl - T
s x |- 7o, 01 - T
, w | - 7@E, Il - e

Question Number : 33 Question Id : 583224935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is an application software performing the task of composing, editing. formatting and
printing of documents?

Options:

1 % MS-Access
> % MS-Paint

% « MS-Word

4 % CorelDraw

Question Number : 33 Question Id : 583224935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

f=fofea & ¥ #ia @ graes &t &=, fde, wieie AR B &1 1 & 9o e s
HFEaTT 27

Options:

, % UHA.TH.- TFEH (MS-Access)

, » THTHGE (MS-Paint)
. » THTH-TS (MS-Word)
, » A F (CorelDraw)



Question Number : 34 Question Id : 583224936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A footnote generally appears at the of a page.

Options:

; % top

> « bottom
z ® left

4 w night

Question Number : 34 Question Id : 583224936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

geare R W R 4 Reé & ¥

Options:
1 % I

o o A
gwﬁTE'
4@“

Question Number : 35 Question Id : 583224937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The default unit to measure font-size in MS-Word is:
Options:

1 % Inch

> % Centimeter

Millimeter

E

2
4 « Point

Question Number : 35 Question Id : 583224937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TH.TH.-95 (MS-Word) H Blec-H5= FI AT #T 2Fec SFE HiT o 27

Options:

% 59

- % HEHARET
5 » THOIART
4. ¢ e

Question Number : 36 Question Id : 583224938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
The “word wrap™ feature of MS-Word automatically moves a word that is too long to fit on a line to the

Options:
| « beginning of the next line

- % end of the next line
- % Dbeginning of the previous line

4, » end of the previous line

Question Number : 36 Question Id : 583224938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
TH.UHE.-I5 (MS-Word) T $=R “g2 1T (word wrap)” FHT off o9 oeg ' = 9od # e =9 &F
faw, 58 F o I

Options:

| 3TN 9fFT F e
i ool smgar fr T

2

, » OO TS F AT

Question Number : 37 Question Id : 583224939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The “Drop Cap” feature of MS-Word can be used to create a letter of much bigger size at/in the of a paragraph.

Options:
| « Deginning

> % end

=z % second line

4 % last line

Question Number : 37 Question Id : 583224939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TH.TH.-95 (MS-Word) T ®=R “2/T &7 (Drop Cap)” F 3931, TgF T HFR H A H A F
e, R & H g 31 g gl

Options:

. YTIHTT

5 ® 3‘1?‘[

iiig galr 9fed



Question Number : 38 Question Id : 583224940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following:

LIST-1 LIST-2
I) Cul+P A) Bold
II) Calibri B)  Print document
I Cctl+B C) Font name
Options:

| ¢ I-B.I-C.II-A
, % [-B.II-A.III-C
5 % [-AII-C.II-B
. % I-C.II-ATI-B

Question Number : 38 Question Id : 583224940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Trtaf@a &1 Fea F:I
-1 T -2
) Ctrl +P A) s
) FEEdr (Calibri) B) fe soge
) Ctrl + B C) Wi aH
Options:
el -B ll-C Il-A
% l-B II-All-C
swl-All-C ll-B
sul-C/ ll-All-B

Question Number : 39 Question Id : 583224941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following statements about Excel Workbook is false?

Options:
1 # MS-Excel files are called Workbooks.

> » A Workbook may have one or more Worksheets.
-  Thename of a Workbook cannot be changed.

4 % The Worksheets of a Workbook can be arranged in any order.

Question Number : 39 Question Id : 583224941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



THEW TgH & @vd A, FEAeT # ¥ ST G FAF T99 87
Options:

UH.TH.-TFHd (MS-Excel) HTZal #, Tohge gl AT gl
UF Fehge H, T AT HTUH Tweled (Worksheets) & Heahd 2

1

> R

o Tehgeh &1 AH ol Hgl ST HeheT|

s Tohge & FehdlieH @ A off F7 A cmaftug frar o g 2

Question Number : 40 Question Id : 583224942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The rows in MS-Excel are lines and they are denoted by

Options:
|« horizontal: numbers

5 % horizontal: letters
5 % vertical: letters

4 % vertical: numbers

Question Number : 40 Question Id : 583224942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TH.TH.-TF0 (MS-Excel) # U @t 7 ¢k s F AT A7 eI AT &
Options:

1 ¥ E\?fﬁ?; TH'-!.EEITE’

> ® ﬂ%ﬁ?,m
L x FEAY; HERT
, » FEANRT; HEAT

Question Number : 41 Question Id : 583224943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
“Fill Handle™ is a small black square at the corner of a selected cell boundary.

Options:
| « bottom-right

> % bottom-left
- u top-right

4 u top-left



Question Number : 41 Question Id : 583224943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘e g2 (Fill Handle)” el =ofag o & d&r & el 9T TF BIST Fal T 21T £

Options:

Question Number : 42 Question Id : 583224944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The “AutoSum™ feature of MS-Excel allows you to quickly find the of numbers in a range.
Options:

, % average

> % mode
3 o« sum

4 % median

Question Number : 42 Question Id : 583224944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
UHA.UH.-TFHA (MS-Excel) HT “Hierdaq (AutoSum)” giaar, smaer frddr o Soft F wemst &
F oA ¥ ga F WEIA FAT 2

Options:

1. ® Eﬂﬂﬁ
o B ;ﬁg

2 v TN
4w FCTET

Question Number : 43 Question Id : 583224945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The absolute address of the cell at the mtersection of 8th row and 16th column is:
Options:

| « $PS8

o> R P8
. ® ESSP
4 W sP

Question Number : 43 Question Id : 583224945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
83 I AR 163 FToH F Fia=oes W T FT JUT I4T FT 872

Options:

1« SP$8
- % P8
- x $8%P
4 % 8P

Question Number : 44 Question Id : 583224946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The value of the Excel expression “=9/2-2" is:

Options:
1.« 79
> # HDIV/0!
= % 16
4 % 2

Question Number : 44 Question Id : 583224946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Todol TFa9ele “=9°2-2" T T gl
Options:

1 19

> % HDIV/O!

z % 16

4 % 2

Question Number : 45 Question Id : 583224947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The value of the Excel expression “= 16/272+1" is:

Options:
1.4 3
> ® 2
= % 05
4 ® 060

Question Number : 45 Question Id : 583224947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TFHe UFHA “=16/2°2+1" & Hed FT 872



Options:
1. ¢ 5
> ® 2
z % B5
4 % 60

Question Number : 46 Question Id : 583224948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following errors appears when the denominator of the division operation refers to a cell that contains
either 0 or is blank?

Options:
| % HVALUE!

> « #DIV/0!
= R® #N.":"ji
4 % #NUM!

Question Number : 46 Question Id : 583224948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
= ol foetrea ot & AT & Hedt AT o1 0 & & I Fo A 2 ¢, A Feffla 7 ¥
T @ ww femEg &= 2

Options:

. % #VALUE!
-« H#DIV/O!
2 % H#N/A

4 # #NUM!

Question Number : 47 Question Id : 583224949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

With respect to the Internet. IP stands for:
Options:

1 = Invisible Protocol

> % Internet Program

= % Internal Protocol
4 « Internet Protocol

Question Number : 47 Question Id : 583224949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
SeTAC & HeH H IP T FT Adae 27

Options:



| ST QISR
, x ST A

L % FCTIcT WICIhI

. v FEET IR

Question Number : 48 Question Id : 583224950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following types of connections uses dedicated wires or cables for connecting to the Internet?

Options:
1 « Cable

> % Satellite
5 % Wireless
4 % Cordless

Question Number : 48 Question Id : 583224950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AT H Foade T F v, =T F 7 9 99x F FaFE J 2T ar 1 FFar F1 99T
T Jmar &2

Options:

| v HE

o x HETRE
5 % JTECH
4 % FISOE

Question Number : 49 Question Id : 583224951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a wireless technology that uses high-frequency radio waves to allow data communication over
a short distance?

Options:
1 % Satellite

> « WiFi
o W LiFi
4 % MODEM

Question Number : 49 Question Id : 583224951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
fFeafof@a & @ Fiadr g Ied doas & A &7 g # 3 TS0 (communication) Fie & oIT
FeuT g0 aTer IR T I F A A T A2



Options:

|« HewwE
, » TEHE (WiFi)
. « STSHIS (LiFi)

, = #1sH (MODEM)

Question Number : 50 Question Id : 583224952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Google search query “Computer Science”™ will search for the web pages that contain:

Options:
, w Either “Computer” or “Science™.

o « The phrase “Computer Science”.

- » Both of the words “Computer” and “Science”. but not necessarily together.

4 » Neither “Computer™ nor “Science™.

Question Number : 50 Question Id : 583224952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T T FA "FEGe A 39 37 gear & @ weh, Tes anfd e &
Options:

vl ar "FEE" AT AEEICE

, o T "FFGE

. 5 "FEIE AR R g el W, A 7 S @ ¥ o wry #
o T A FwEger d@ A & e

4.

Question Number : 51 Question Id : 583224953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I)  The Internet is an example of a LAN.
II) MAN is a computer network that spans across a city.

Options:
; & 1-True, II- False

>  1-False, IT - True
3 ® I-True, II - True

4 % 1-False II - False



Question Number : 51 Question Id : 583224953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

s :fST Fua @8 § I7 T9T)

) EeTEe, o (LAN) & T 30T 2

)  #AF (MAN) TF FFIeT F FeaF &, AT 0MET 5T & el giam &
Options:

Lo |- TN - e

o | - 7Ea, 1l - FEr

o w | - @@L - HE

,ow | -7, 1 - ITer

Question Number : 52 Question Id : 583224954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following:

LIST-1 LIST-2
I) Chrome A)  Search engine developed by Microsoft
II) Bmg B) E-commerce site
IIT) Snap deal C)  Web browser
Options:

1w I-CH-ATI-B
> x 1-CI-B,II-A
z x I-AII-C.III-B
4 # I-AII-B.II-C

Question Number : 52 Question Id : 583224954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
=T & Fere +:1I
-1 -2
) FH A) HAEFETE AR FFET T S5
) f&er B) S-HHAYT HBEE
) =9 C) 39 FE=N

Options:
vl -C ll-AlIl-B
ol =-C Il-B, Il -A

o 18,08, -8
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Read the following passage and answer the questions given
after it.

A strange event happened on Thursday. A Nilgai gave a tough time
to the police and officials of the forest department who took several
hours to safely take the animal to Asola Bhatti Wildlife Sanctuary.

Early in the morning the Nilgai entered Delhi’s most protected
zone. Vijay Chowk. Senior officials spotted it going towards the
Parliament House.

The animal could be caught only after hours of struggle. The NGO.
Wildlife SOS. had also deployed its 10-member team to rescue the
animal. *“The Nilgai has been successfully rescued by #Wildlife
SOS from #Vijay Chowk.” the NGO tweeted after the rescue work
was over. It is believed to have strayed from a forest area behind
the President’s Estate. Initially a group of policemen rushed to
remove the animal before VIP convoys of ministers and top
officers started moving into the area.

The blue bull was seen running around the lawns as a PCR van was
entrusted with the task of chasing it towards that zone. While the
van was about to take a sharp turn. the Nilgai suddenly ran towards
it and hit the vehicle on the driver’s side. The impact led to a broken
window glass and also caused injury to the Nilgai’s leg.

The police team also made a human chain bordering the lawn to
ensure that the Nilgai didn’t run towards the road again. Soon
thereafter the traffic police also joined the Nilgai operation and the
arsa was cordoned off. The incident also caused traffic snarls in the
area which lasted for around an hour.

Finally the forest department officials rescued the animal and
explained that they had to be careful as the Nilgai has a “very
delicate heart” and cannot be chased back to the forest and “had to
be rescued.”

A forest department officer further said that the department is yet
to ascertain her age and whether the animal is pregnant or not.
According to the forest department, it received a call about the
presence of the animal in the VVIP zone around 10 AM following
which teams were rushed to the spot.

Sub questions

Question Number : 53 Question Id : 583224956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Nilgai was first seen at:
Options:

| v Vijay Chowk.



- % The Parliament House.
= # The President’s Estate.

4 % AsolaBhatti Wildlife Sanctuary.

Question Number : 54 Question Id : 583224957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
From the facts stated in the passage one may
infer that the Nilgai was:
Options:
, w ababyNilgai

- % amale Nilgai
-  afemale Nilgai

4 % apregnant Nilgai

Question Number : 55 Question Id : 583224958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The incident described in the passage took
place at /in the
Options:
|  Inormning

- % noon
5 w evening

4 » night

Question Number : 56 Question Id : 583224959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Probably the Nilgai had come from
Options:

1 % the Aravalli hills

> « the forest area behind the President’ Estate

- % anearby zoo

4 = the Asola Bhatti wildlife sanctuary

Question Number : 57 Question Id : 583224960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
They did not chase the Nilgai back to the
place from where it had come because:

Options:



, % they wanted to take it to the Wildlife Sanctuary

- » there was a risk that it might run away

- % they wanted to keep it as a valuable possession

4 « theNilgai has a very delicate heart

Question Id : 583224955 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Juestion Label - Comprehension
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Sub questions

Question Number : 53 Question Id : 583224956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ATSITT Rl 9gell &1L gl @7 I7aT oT?

Options:

| v o

o % TEE HAA

=5 Tegate e

, » HEIET T8 T TSAT HHAROY

Question Number : 54 Question Id : 583224957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Sq'-ﬁ;'q'?!' feT v Fear @ A SR ST
THar & &, Aeema el

Options:
1 % TR =47 dAeeng

> % Teh AT AR

= U AT A

4 % T IS g

Question Number : 55 Question Id : 583224958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e ¥ Ifta gear H gg o
Options:

L 2

2. E[EI
= % MH
4_%‘3?’?

Question Number : 56 Question Id : 583224959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TG AT T AT off)

Options:
| w AT GEIEAr
o Tsgufa 6790 & 8 g 37 a9

2



, » 3T HE TeFST HHTARTY

Question Number : 57 Question Id : 583224960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

3, SIS FT 3T TAT W 9T AT o
AT FF W T S o, FifE
Options:

| % ¥ U FeUST HEAROT H F S AES A
, » F@I UF AEH o, F ag &mr @A o

T ¥ TF Fodad HUFR & FT H G
3 & ©Ed
, v TR #T FET FIAS g gl

OUANTITATIVE AFTITULDE
Section Id : 583224117
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 583224117
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 583224961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Find the greatest three-digit number that is exactly divisible by 15, 25, 20 and 30.

Options:
{ % 990

5 « 900
5 % 960
4 % 930

Question Number : 58 Question Id : 583224961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

3¢ it 3R FT I3 § T8 FEAT AT HItAT, | 15, 25, 20 AR 30 ¥ oI Fefaa
gl 87

Options:

% 990
. 900
- = 960
4 % 930

Question Number : 59 Question Id : 583224962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In a class, there are 60 students in which 15% are girls. Each girl’s monthly fee is Rs. 250 and each boy’s monthly fee is
34% more than a girl. What is the total monthly fee of 60 students?

Options:
| « Rs. 19,335

, % Rs. 18435
5 % Rs. 19,345
., % Rs.19.435

Question Number : 59 Question Id : 583224962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T FET H 60 O g, To=s 15% wsfehal 81 Tcdish @Sl &1 ATde o 250 T § 3R 93® @5 &
AfHF ook TF o5 A g H 34% O g1 60 TTEI F Fo AHEF Yok AT 87

Options:

1« % 19,335

> % . 18,435

. % T 19,345
. % T 19,435

Question Number : 60 Question Id : 583224963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A and B together can complete a particular task in 6 days. If A alone can complete the same task in 10 days. how many
days will B take to complete the task if he works alone?

Options:
1.+ 15
> % 16
= % 14
4 % 12

Question Number : 60 Question Id : 583224963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

A Fur B fAee ve few &1 & 6 fGa & qU #T wea §1 e A 3E w @ 10 e A woa
TehdT g1 TG B W 1T T 3oholl AT g, df 98 fohadl & & FF H U HE?

Options:

1.« 19

> % 16

2 % 14

4 % 12

Question Number : 61 Question Id : 583224964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A particular amount of money is to be divided among Sita, Gita, Rita and Mita in the ratioof 5 : 2 : 4 : 3. If Rita gefs
Rs.1000 more than Mita. what is Gita’s share?

Options:
1 % Rs. 500

> % Rs. 1500
= « Rs. 2000
4 % Rs. 2500

Question Number : 61 Question Id : 583224964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

ram, e, fer R AT F f 5:2: 4 ;3 F 3T F v Ry I F Raew B s
g1 afg fer & Har & 1000 T9 38w Fea € o far & fear Graar 22

Options:

, = %. 500
, % ¥. 1500

. » % 2000
, % T 2500

Question Number : 62 Question Id : 583224965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In what ratio should milk and water be mixed so that when the milkman sells this mixture at cost price. he gains 20%?

Options:

1 % 1:2
& % 133
= % 1:4
4 125

Question Number : 62 Question Id : 583224965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
1 % 1
2 % 1

3%-31

A = w M

g4 v 1

Question Number : 63 Question Id : 583224966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The perimeter of a square plot is equal to the perimeter of a rectangular plot which is 23 meters long and 19 meters
broad. What will be the diagonal of the square plot?

Options:

, % 1742m
5« 21\2m
2 % 2242m
4 % 23V2m

Question Number : 63 Question Id : 583224966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Tk RN Tl & AT, Uh AR Tolic & IHAMT & e g, T
23 HreT oer 3T 19 Hey diEr g1 TR cae Fr Q9T Far gen?

Options:

L % 1742 #n

5 o 2132

2 ® 2242 A

4 % 2342
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Question Number : 64 Question Id : 583224967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the number 4578927586, the position of the third and fifth digits are interchanged. seventh and ninth digits are
interchanged. and eight and tenth digits are interchanged. In the new arrangement, what is the sum of the third digit and
sixth digit?

Options:
1w 14
> o 11
= % 10
4 ® 9

Question Number : 64 Question Id : 583224967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TEAT 4578927586 H, AAY AT T 3 Fr T, s 3k AT i i TufEEn, o s sk
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Options:

4% 9

Question Number : 65 Question Id : 583224968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If in a code language. COULD is written as BNTKC and MARGIN is written as LZQFHM. how will MOULDING be
written in that code?

Options:
; % CHMFINTK

> % LNKTCHMF
- « LNTKCHMF
4 % NITKHCMF

Question Number : 65 Question Id : 583224968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ife T 99 T 9mr A, COULD &r BNTKC @2 MARGIN & LZQFHM &9 & or@r Sar g, ar 34T
FE 99T F MOULDING & &7 forgr smeen?
Options:

. % CHMFINTK
. % LNKTCHMF



- v LNTKCHMF
. = NITKHCMF

Question Number : 66 Question Id : 583224969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Vijay walked 20 m north. took a left turn and walked 30 m and again took a left turn and walked 20 m and then stopped
walking. In which direction he was facing when he stopped walking?

Options:

1 « South

> % South-West
- % South-East

4 % North

Question Number : 66 Question Id : 583224969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

e 3eax fgem & 3R 20 #. & gy Fe=, 91§ HX Far ¢ 3R 30 A 5T oA § I W T @ g
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Options:

1.»**3@‘“

.« SRR
3 ® ‘ -E[\é

4 B Secdl

Question Number : 67 Question Id : 583224970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Pointing to a gentleman. Deepak said, “His only brother is the father of my daughter’s father”. How is the gentleman
related to Deepak?

Options:
1 % Grandfather

% Father

B
= # DBrother-In-law
4 « Uncle

Question Number : 67 Question Id : 583224970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Tk Weelel 1 3R TR A §U &9k o o, “THHT Sehcllal H1S, ALY &7 & Tar &1 Rar &' T8
==, 39+ ¥ g 9or meafaa 32

Options:

1&.33331'



2 B e
3 % HIell
4 « Il

Question Number : 68 Question Id : 583224971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Choose the word which is different from the rest.
Options:

1 % Earth

o o Sun

= % Satwn

4 % Mercury

Question Number : 68 Question Id : 583224971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
38 ofeg H I A 377 wedl H # e &

Options:

o

2 ¢ %

= # %Tﬁ

4 % 2

Question Number : 69 Question Id : 583224972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the following question. a number series is given with one term missing.
Choose the correct alternative that will continue the same pattern and fill in the blank spaces.

2.5, 8.4 ) 20,27

Options:
1 14

> B 16
T R 18

Question Number : 69 Question Id : 583224972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



feafof@a 99 A, tF o7 92 & @y, Ue wea Aofr & o
=H Yo F SN WA F v "7 FweT 94 3R Rew vue F o
FLag T R Y. 20 Xl

Options:

1. v 14

- ® 16

o ® 1 8

g4 24
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Question Number : 70 Question Id : 583224973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Where is the headquarters of East African Development Bank?
Options:

, « Yganda

- % South Africa
= # Zambia

4 % Zimbabwe

Question Number : 70 Question Id : 583224973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 71 Question Id : 583224974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When is World Environment Day observed every year?

Options:

11% July

5 « ST June

4 % 200 June

Question Number : 71 Question Id : 583224974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

reg gaEwoT fEGag, 9fa av forg ew Aamar Jmar 22

Options:

L% 37
- '113JFII$
20 =

4 #®

Question Number : 72 Question Id : 583224975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who among the following is the only Indian to win the Noble Prize in Physics?

Options:
1 % Dr J. C.Bose

> « Dr. C. V. Raman
=z % Dr. H. J. Bathe
4 #% Dr. Vikram Sarabhai

Question Number : 72 Question Id : 583224975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
ffofea & @ #ia, #ifos fee & Jee [wEEr e T e s 87

Options:

. o L @ & e
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Question Number : 73 Question Id : 583224976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Shanti Swarup Bhatnagar (SSB) Prize is given for outstanding contribution in which of the following fields?

Options:
1 # Literature

- u Performing Arts

3 o Science
4 % Social Service

Question Number : 73 Question Id : 583224976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| » TIfET
o % O GBI
s v o=
4 % AT ®aT

Question Number : 74 Question Id : 583224977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which Australian player has the nickname ‘Dizzy’?

Options:
1 % Adam Glichrist

o  Jason Gillespie

%z % Glenn McGrath
4 % DBrettLee

Question Number : 74 Question Id : 583224977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e sTeeoaE e & 3= B 82

Options:

1 ® mﬁm
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Question Number : 75 Question Id : 583224978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who amongst the following is the author of the classic book “Life Divine™?

Options:
1 # Ravi Shankar

- % Swami Vivekananda
= # Radha Krishnan
4 « Sri Aurobindo

Question Number : 75 Question Id : 583224978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T=faEa 7 @ #lF, Fats Fae s B & a3gws 22

Options:
1 % T =T

T R

5 Al U

, » T 3RTEEr (Aurobindo)
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Question Number : 76 Question Id : 583224979 Question Type: TYPING TEST Display Question Number : Yes

Once uporn a time, there was a man who was very helpful, kindhearted and generous. He was a man who will
help scrmeone without asking anything to pay him back. He will help someone because he wants 1o and he
loves to. One day, while walking into a dusty road, this man saw a purse. 5o, he picked it up and noticed that
the purse was ermpty. Suddenly a wornan with a policernarn shows up and gets him arrested. The wornan kept
on asking for her money and started treating hirm, as if he was the real culprit. However, the man kept his
patience and replied that the purse was already empty whern he found it. After a while, the wornan started
yelling at him and pleaded to give the money back, as it was the school fees of her son. The man noticed that
the worman really felt sad, so he handed all his money. He thought that the woman might be a single rmother.
50, he gave all of his money and said that he was sorry for the inconvenience. The worman left and the
policernan held the man for further questioning. The woman was very happy. But, when she counted her
morney later on, she found that it was doubled. This incident shocked her badly. Few days passed by and one
fine day, when the woman was going to pay the school fees of her son, she noticed that some skinny man was
walling tehind her. She thought that he may rob her. 50 she approached a policerman standing nearby. He
was the same policernan, who she tool along to inguire about her purse. The worman told him about the rman
following her. But, suddenly they saw that the man started collapsing. They ran at him and saw that he was
the same man whom they arrested few days back for stealing a purse. He looked very weal and the wornan
was confused. It was then, when the policernan told the worman that he was not the thief, who stole your
money. But, hearing about the school fees, he felt sad and gave you all of his money. Later, they helped the
man stand up, and marn asked the woman to 20 ahead and pay the school fees of her son. He said that he was
following her to be sure that no one steals her money. The worman was speechless. The moral of this story is
that life gives you strange experiences, sometimes it shocks you and sometimes it may surprise you. We end
up making wrong judgments or mistakes in our anger, desperation and frostration. Howewver, when you get a
second chance, yvou should correct your mistakes and return the favor.
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